Homework #2, Chapter 3, 4th Ed., P&Ap, 2 & 8.
October 18, 2006

1A. Graph

1B. 40 pages of economics reading

6A.


Production Possibility Schedule



Pairs of Red Socks

Pairs of White Socks



Per Worker per Hour

Per Worker Per Hour


Boston

3




3


Chicago

2




1

Pre-Trade Prices:

Boston - 1 pair of red socks per pair of white socks; or 1 pair of white socks per pair of red socks.
Chicago – 2 pair of red socks per pair of white socks; or ½ pair of white socks per pair of red socks.
6B. Boston has the absolute advantage in both red and white sock production.

6C. 



Opportunity Cost of


One Pair of Red Socks

One Pair of White Socks


In Terms of White Socks

In terms of Red Socks

Boston

1





1

Chicago

.5





2

Chicago has the lowest opportunity cost of red socks and therefore should tend to specialize in, and export, red socks.  Boston has the lowest opportunity cost of white socks and therefore should tend to specialize in, and export, white socks.

6D. Boston will export white socks (and import red socks).  Pre-trade in Boston, Bostonians received one pair of red socks for each pair of white socks.  Boston will want something better with trade so they will want more than 1 pair of red socks for each pair of white socks.  Since Boston wants more than 1 pair of red socks for each pair of white socks (R/W), it implicitly wants less that 1 pair of white socks per pair of red socks (W/R).  Hence, 
Boston wants:  1 < R/W or W/R < 1

Chicago will export red socks (and import white socks).  Pre-trade in Chicago, Chicagoans received ½ pair of white socks per pair of red socks.  Chicagoans will want something more with trade than ½ pair of white socks per pair of red socks.  Since Chicago wants more than ½ pair of white socks per pair of red socks (W/R), it implicitly wants less than 2 pair of red socks per pair of white socks (R/W).  Hence,
Chicago wants:  ½ < W/R or R/W < 2

These points then frame the region of beneficial trade:

1 < R/W < 2 

.5 < W/R < 1
